Legenda (US):

ch =chain

sc = simple crochet

dc = double crochet

ss = slip stitch

hdc= half double crochet
dc= double crochet

Crochet size 3

Crochet Cherries

Cherries (mnake two):

Make a 3 ch foundation stitch and close in a “ring”
with a ss. Ch 1 and make 10 sc all in the ring.
Close with a ss in the first sc.
Ch 1, work a sc in each stitch, don’t close but follow
to work sc in spiral until you will have 3 complete rounds.
Close with a ss, chain 1, *1 sc and 1 inc* repeat * * until
the cherry closes.Close with a ss leaving a 5 cm tail.

Twigs and leaves:

Twigs:with green yarn work a sc on the cherry’s top.
Make 2 ch and cut the yarn leaving the chain open.
Make the same on the other cherry and join the two “twigs”
working 1 sc into the two jointed chains, don’t cut.

Leaves: make *7 ch, 1 sc in the second ch from hook, 1 hdc in the following ch,

dc in the 2 following chains, 1 hdc, 1 sc*.
Repeat from *to* to have 2 leaves, then close with a ss and close.
Tie tails then, with the help of your hook, hide them inside cherries!
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